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= 981,254 704,230 277,024
AN MISUSI(=EEHY)(HEAMY) 469,500 219,500 250,000
401 AlEHIZ 0| 0 200,000 A200,000
01 Al&HI 0 200,000 A200,000
OztxE OIS2UHSIIAMY 33 & 0 200,000 A200,000
402 BIZEXHE0I A 450,000 0 450,000
01 DIZHAHEAIG 2 (RIATHE) 450,000 0 450,000
OaEF0IBOHED| KEAS
150,000,000 81 <37 A 450,000 0 450,000
SEXSINLAIY e 62,754 35,730 27,024
101 Q1A Y 17,544 0 17,544
04 JRtH22KsEs 17,544 0 17,544
OsEZAANY =X T
17,544, 00014l 17,544 0 17,544
201 LetEyy| 22,460 12,980 9,480
01 At2t2itl 22,460 12,980 9,480
O==89 f2s 29 20,960 11,480 9,480
O AIg FE 100,00094+1821%43] 7,200 3,600 3,600
OF=F-Ea=, A 70,00021%4201%43] 11,760 5,880 5,880
HEs 0l 4 3,715,125 3,774,537 159,412
= 116,410 100,120 16,290
[ 73,685 102,186 128,501
= 3,525,030 3,572,231 N47,201
=0l sy AR 426,174 416,681 9,493
= 34,000 34,000 0
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2N:
B

Sk

sHIIsHE
HEl=sgol 54
sY sEHE X

£A - ZH - S2(3H) - IRAY - HES Ofl &by J 3 Hlusz
= 46,009 44,112 1,897
2 346, 165 38,560 7,5%
HsHE RN 227,200 227,200 0
= 22,720 22,720 0
2 204,480 204,480 0
301 YBrEES 75,660 125,660 50,000
3 7,566 12,566 5,000
2 68,094 113,004 45,000
14 JIEbE A2 72,300 122,300 £50,000
OsE0IA 0t
ZH 723,002 +20250) 2 72,300 122,300 A50,000
= 7,290 12,230 A5,000
= 65,070 110,070 45,000
402 BIRI T2 01 50,000 0 50,000
= 5,000 0 5,000
2 45,000 0 45,000
02 QI A=A 2 X (01 /TR ) 50,000 0 50,000
A=l & X4 50,000, 000214 4 50,000 0 50,000
= 5,000 0 5,000
2 45,000 0 45,000
SAYSHAIZHE) 2 XIS 20,000 20,000 0
2 10,000 10,000 0
= 5,000 5,000 0
2 5,000 5,000 0
201 ety 5,000 2,000 3,000
2 2,500 1,000 1,500
3 1,250 500 750
2 1,250 500 750
01 Al 221t 5,000 2,000 3,000
OSAQCHS DIDH MX
T 200,0008+255 5,000 2,000 3,000
2 2,500 1,000 1,500
= 1,250 500 750
2 1,250 500 750
301 YHBHZ 15,000 18,000 A3,000
2 7,500 9,000 A1,500
= 3,750 4,500 AT50
= 3,750 4,500 AT50
14 JIEL2 NS 11,000 14,000 £3,000
O=AUNE 2Y LAY
A 550, 00084203 11,000 14,000 3,000
= 5,500 7,000 A1,500
= 2,750 3,500 A750
= 2,750 3,500 AT50
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£AM:
A

ol

M- 38 -a2(3) - AIRANY - BES Ofl &bl 8o Hlusz
=92Y0l HEX 7S N 31,450 21,957 9,4
= 6,280 4,392 1,897
2 25, 161 17,565 7,5%
201 B2 31,450 21,957 9,48
= 6,280 4,39 1,897
2 2,161 17,565 7,5%
01 Al 22l 31,450 21,957 9,493
O RSHUS PSE X3
A 78,0008+ 145 1,002 765 327
= 218 153 65
= 874 612 262
OUESYANE RS2 X
AN 60,00024345 2,040 1,428 612
= 408 285 122
2 1,632 1,142 4%0
OEIENUNE PS K&
A% 19,516,0002+14] 19,516 13,662 5,854
= 3,903 2,733 1,170
2 15,613 10,929 4,684
O HYs SENEN(FRSAUMR) 23
AT 72,00024665 4,752 3,312 1,400
= 950 662 288
2 3,80 2,650 1,152
AT REZ X2
AT 90,0002 %45% 4,050 2,790 1,260
= 810 558 252
2 3,240 2,23 1,008
SEXNCR A 70,219 58,083 12,136
= 2,676 1,920 756
2 67,543 56, 163 11,380
SOICH B NR(SENSH 245 1) 2,520 0 2,520
= 756 0 756
2 1,764 0 1,764
301 YBHEH 2,520 0 2,520
= 756 0 756
= 1,764 0 1,764
11 AHITI S 2,520 0 2,520
O=EXNTR BHETR
2,520,0004%14! 2,520 0 2,520
3 756 0 75
2 1,764 0 1,764
EXNTRE DSBA 2 2 N 30,000 24,800 5,200
301 YBHEF 10,000 4,800 5,200
11 AR 2 10,000 4,800 5,200

- 359 -




2N
K| ZH -
o=

e

s20i=4H
HAsY =Y
sEXNZX X

2A-3Y . G(3) - NRAY - BYS 0il &b NEY HRE2
SENGK & - A3 &}
B 250,000 +4001+13] 10,000 4,800 5,200
OISCH: SEDIRI| AR 28,099 23,683 4,416
101 Q124 26,499 22,083 4,416
04 JIHR RIS E S 26,49 22,083 4,416
OSH O20E ST JIRI| QR (che)
2 88,3309+300% 26,499 22,083 4,416
=0l 0l XY 3,187,842 3,268,883 281,041
= 79,890 63,600 16,290
= 19,366 50,520 231,154
2 3,088,586 3,154,763 768,177
SOAUO NKHA YL BSXR 40,650 34,883 5,767
101 QI121H| 23,850 22,083 1,767
M IRH2ZIHSES 23,850 22,083 1,767
OF QI FARNES AR
2 88,330R4270 23,850 22,083 1,767
301 YpHPE 13,900 9,900 4,000
TENEE 13,900 9,900 4,000
OSAUAAO T - TAMWE &I}
AT 250,000 +40% 10,000 6,000 4,000
HAS Ol YSTAXY A 117,192 92,000 25,192
= 79,89 63,600 16,290
[ 10,366 7,920 2,446
= 26,936 20,480 6,456
201 Y2 Y| 5,500 4,000 1,500
= 2,750 2,000 750
= 2,750 2,000 750
01 ALzl 5,500 4,000 1,500
OBASYA0 B 22|
2T 2,750,00021423)] 5,500 4,000 1,500
= 2,750 2,000 750
2 2,750 2,000 750
307 2I2+0IH 111,692 83,000 23,692
= 77,140 61,600 15,540
= 10,366 7,920 2,446
z 24,186 18,480 5,706
02 QIZHBAAIH B & 11,692 83,000 23,692
Od8d=Yo! A=FAE AlY
2F 111,692,0002 %14 111,692 83,000 23,692
= 77,140 61,600 15,540
= 10,366 7,920 2,446
z 24,186 18,480 5,706
HA=elol &eD|8t X2 0 112,000 A112,000
[ 0 33,600 £33,600
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2A: s8JisdH
A HdEUsEN |4
ool sy3E X3 (CHe ®2l)
2A-ZH - GA(2) - HRA - BYF Off kot JNEYH Blus2
= 0 78,400 AT78,400
402 QIZEXHE01H 0 112,000 A 112,000
& 0 33,600 A33,600
= 0 78,400 78,400
02 QIRITTEASEZE(OIF ) 0 112,000 2112,000
OHI=Y! FAI|Et A
23 0 0 112,000 AT112,000
= 0 33,600 £33,600
= 0 78,400 278,400
sgel =X & 858,925 811,360 47,565
= 49,500 49,500 0
< 84,188 75,498 8,690
T 725,237 686,362 38,875
He=Zol N& 284,625 255,660 28,965
= 81,638 72,948 8,690
= 202,987 182,712 20,275
He=g0 SAdLX 202,000 201,400 600
< 60,600 60,420 180
= 141,400 140,980 420
301 LEEAS 202,000 201,400 600
& 60,600 60,420 180
z 141,400 140,980 420
2 MIIBEHESHS(HLAE, NLME) 202,000 201,400 600
O0id=Rel sXb2eX X
200,0002+1,01028 202,000 201,400 600
& 60,600 60,420 180
= 141,400 140,980 420
Hasgo =22 NFAEY 61,200 41,760 19,440
&< 18,360 12,528 5,832
z 42,840 29,232 13,608
402 QIZHIH=01 A 61,200 41,760 19,440
= 18,360 12,528 5,832
= 42,840 29,232 13,608
02 UZHHEALEZ(0IE M) 61,200 41,760 19,440
O0&=sYe 822 A
900, 0002 +B5CH+80/100 61,200 41,760 19,440
& 18,360 12,528 5,832
= 42,840 29,232 13,608
Hasge HgES N2 8,925 0 8,925
= 2,678 0 2,678
= 6,247 0 6,247
307 QIZtolIA 8,925 0 8,925
< 2,678 0 2,678
= 6,247 0 6,247
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A sgI=dE
¥ Yol =2X Ed
el ogsgel AR CGEERSED
2A 38 S2((2) - SN - BYS Ofl &by JNEFEA Hns2
0 ez ¢ &=l 8,925 0 8,925
ONE=Eo! HLTS(CHAEX)
170, 0003 <752 +70% 8,925 0 8,925
T 2,678 0 2,678
= 6,247 0 6,247
=Z0 MEEE A 543,200 524,600 18,600
= 49,500 49,500 0
S 750 750 0
e 492,950 474,350 18,600
sHtE SEIIS JI=XE 322,700 304, 100 18,600
201 LEH29EY| 57,700 39,100 18,600
01 At 22l 29,700 12,500 17,200
O=s4EEEIIBHH 29| 29,700 12,500 17,200
ONBeE SEEAM =&
2 & 150,000 %1504 22,500 7,500 15,000
Oxt Y AE2(R3) AEEd
Z & 150,000+ A+ 1288 7,200 3,600 3,600
OMYUEE I & 2922
HE 02 0 1,400 41,400
02 ZS244| 28,000 26,600 1,400
OsMETEIIBNH =222 28,000 26,600 1,400
O2223 % HA
1,800,000& 101 &+ 123 21,600 21,600
OAMEZEHl =X 5,000,000 *14 5,000 5,000
OMASE I & 2H 22
ZE 1,400,000 14 1,400 0 1,400
S0|HAHEES CIARIHEH 29 51,500 51,500 0
201 Let24E| 28,000 33,000 25,000
02 S524| 26,000 31,000 25,000
o222 ¥ A
1,000,000& *1JH 62 6,000 6,000 0
OFAAIE SX22| 20,000 25,000 A5,000
OHEAEA 19,000,000« 1 19,000 24,000 25,000
OAlI£EH]l | X 1,000,000 *14] 1,000 1,000 0
401 Al HIL 2 0] 5,000 0 5,000
01 Al&HI 5,000 0 5,000
QRcldsd H2HELD 4X
ZE 5,000,000 =10H 2 5,000 0 5,000
=13g otd X 4,326,588 3,873,497 453,091
= 395,337 317,787 77,550
= 649,766 516,392 133,374
i 3,281,485 3,039,318 242,167
AXNS CHEMA TR 2,204,008 2,201,367 2,641
= 60,617 198,067 A137,450
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PN EeIISHE
HE: S)I3Y oF AW
CI9l: MRS OFMM XN (cro): 721
2A - F8 - S(21H) - HRAY - BES Of] kol N3y s
= 415,846 389,972 25,874
2 1,727,545 1,613,328 114,217
FELELEER: 3,300 2,300 30,000
401 Al HI LR CHH] 30,000 0 30,000
01 Alt 30,000 0 30,000
oIl Y S 30,000, 000214 30,000 0 30,000
B HiE TSUHH 29 108,800 78,800 25,000
40 2I2HXH201H 102,800 77,800 25,000
03 SIZHSISt AR 102,800 77,800 25,000
OBl s ZSLH NN(=S)
76,000%1+1,000ha+50% 38,000 13,000 25,000
HIZ J1201E XIRM(RIITHIE XIBAR) 9,611 35,620 £231,009
= 56,767 105,372 138,605
= 11,353 39,074 ~27,721
2 26,491 91,174 £64,683
400 QI2HRHE01E 9,611 305,620 £231,000
2 56,767 195,372 A138,605
= 11,353 39,074 ~27,721
2 26,491 o1, 174 264,683
08 BIZHRIEHARRIH| 94,611 305,620 A231,000
OHIZ 12 X
A% 04,611,00081%14! 9,611 35,620 £231,000
2 56,767 195,372 138,605
= 1,353 39,074 ~27,721
2 26,491 o1, 174 84,683
olgt ST X8 1,000,000 900,000 100,000
= 300,000 270,000 30,000
z 700,000 620,000 70,000
400 QZHRHO0IH 1,000,000 900,000 100,000
= 300,000 270,000 30,000
2 700,000 630,000 70,000
R ENETT 1,000,000 900,000 100,000
o8t SR X8
2,000,000, 0002+1A1x50% 1,000,000 900,000 100,000
= 300,000 270,000 30,000
2 700,000 630,000 70,000
Medly 2ARS N 119,000 42,000 77,000
= 35,700 12,600 23,100
2 83,300 29,400 53,900
a0 QI2HTH=0IH 119,000 22,000 77,000
= 3,700 12,600 23,100
2 83,300 29,400 53,900
03 BI2FSIEtA RS 119,000 42,000 77,000
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2 S|SME
I S01Y o X8
EI9l: AIZIRS OIFMM XIE (cro]:He)
SA -3 A(2) - HRAL - BES Ol &bt J 3o Hns2
QM= 2RLE N
2T 140,0009141,7002450% 119,000 42,000 77,000
= 35,700 12,600 23,100
2 83,300 29,400 53,900
NE B =22e)|223 1S8R 5,500 3,850 1,650
= 3,850 2,6% 1,15
= 1,650 1,155 4%
201 Ler2g| 1,100 1,000 100
2 770 700 70
= 330 300 30
01 AFRt2IH| 1,100 1,000 100
OSESHN ¥ WBIHH
2% 1,100,0008 14! 1,100 1,000 100
2 770 700 70
= 330 300 3
301 YUHPHZ 4,400 2,850 1,550
3 3,080 1,99 1,085
= 1,320 855 465
11 YAHABIKIE S 3,400 2,150 1,250
@=22)ls HAX St Hst
2 3,400,000 3,400 2,150 1,250
2 2,380 1,506 875
= 1,020 645 375
14 JIE 2 A2 1,000 700 300
o=2m2IIE BAR
2% 1,000,000 %141 1,000 700 300
2 700 4% 210
= 300 210 %0
NBRSMN BS K2 216,430 189,420 7,010
2 7,500 7,500 0
< 28,350 28,350 0
2 180,580 163,570 7,010
BMN S KR 81,630 64,620 17,010
307 SI2H0|H 3,130 15,120 17,010
02 QINAMAYSE 3,130 15,120 17,010
OHisA HIZE 20| X
540, 0002 %85ha< 7% 2,130 15,120 17,010
IEEERE 50,000 50,000 0
2 25,000 25,000 0
2 25,000 25,000 0
£28 =18 NSZUIX NE 2SAY(2D) 50,000 50,000 0
2 25,000 25,000 0
2 25,000 25,000 0
402 QIRIXHZOIH 0 50,000 A50,000
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24

=
HE: =)1EY oL X2
Bel: ADIE 2B (Crel:Hg)
2H - 3 - AA(Z) - HFAY - BES Ol by J 3 A Hunsz
25,000 225,000
= 25,000 225,000
2 QIR A 2% (OIHTHE) 50,000 50,000
OSEE =IIHE NSZHIX AY =2
0RI*14! 0 50,000 250,000
= 25,000 225,000
= 25,000 225,000
405 Xtorz S| 50,000 0 50,000
= 25,000 0 25,000
= 25,000 0 25,000
01 U SEF S| 50,000 0 50,000
OLEE SIIHE NSESEX MY 22
50,000,002 144 50,000 0 50,000
= 25,000 0 25,000
= 25,000 0 25,000
A= JlEXH 485,200 454,360 840
=2 1,600 1,600 0
= 68,220 68,220 0
= 385,380 384,540 840
SIHNSSHER 2EAY 4,000 3,160 840
= 1,600 1,600 0
T 720 720 0
= 1,680 840 840
201 YEr2 et 4,000 3,160 840
= 1,600 1,600 0
3 720 720 0
= 1,680 840 840
01 Ak @alt] 4,000 3,160 840
O=JIA SaEX PY Y RN
100, 000! *40CH 4,000 3,160 840
=2 1,600 1,600 0
=5 720 720 0
= 1,680 840 840
ALY 2Y 985,025 502,425 432,600
= 215,000 0 215,000
= 124,000 16,500 107,500
= 59,025 485,925 110, 100
UUSIIHAIY 29 450,025 447,425 2,600
201 Bt 136, 150 133,550 2,600
01 AFR2+2IH| 10,600 8,000 2,600
OUSIIH ZLA 22X TI=H|
125, 0009+ 102 x4 5,000 2,400 2,600
UUSIIHFHIPL (=% SIIH WA KA) 430,000 0 430,000
= 215,000 0 215,000
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SN sLIEUE
I ZIIAY oOFF N
S SIAAMAY 29

(Sl @R

2A-Z3H - (31)) - HRAY - BES Ofl &by 38N Husz
= 107,500 0 107,500
2 107,500 0 107,500
405 RIS 430,000 0 430,000
2 215,000 0 215,000
< 107,500 0 107,500
2 107,500 0 107,500
01 R USBHSY| 430,000 0 430,000
O =0 AUHAFY 7Y
50,000, 0002 4CH 200,000 0 200,000
2 100,000 0 100,000
= 50,000 0 50,000
2 50,000 0 50,000
oNEFHEIIHRL
100,000, 0002 x2CH 200,000 0 200,000
= 100,000 0 100,000
< 50,000 0 50,000
2 50,000 0 50,000
OFINR T2 15,000, 00021 +2CH 30,000 0 30,000
2 15,000 0 15,000
3 7,500 0 7,500
2 7,500 0 7,500
SUAS B4 2,871,120 2,361,157 509,963
=2 74,180 74,180 0
< 281,024 260,024 21,000
2 2,515,916 2,006,953 488,963
AUSH K 302,500 115,500 187,000
A ALY BEX 25,500 5,500 20,000
206 T2t 20,000 0 20,000
01 H2HI 20,000 0 20,000
O=sIENATE REW2TY
20,000,008+ 14] 20,000 0 20,000
T SAHRAZKNBAL 42,000 25,000 17,000
402 RIZEXH0IH 42,000 25,000 17,000
01 QIRFHZ A S (REITHER ) 42,000 25,000 17,000
o4 SHHASK XY
2% 42,000,00080%14] 42,000 25,000 17,000
2BEH N ALY 222,000 72,000 150,000
206 H24| 200,000 50,000 150,000
01 W2u 200,000 50,000 150,000
025 BAXNE M2 7Y
2 100,0008 2003 20,000 30,000 210,000
ONEY It 8,000 20,0005 160,000 0 160,000
BeEEIE HRA 81,770 41,207 9,563
= 21,000 0 21,000
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DA SYIIEME
M 5eAS B
Cigl: DSAsIIE HIN (che:me)
SA -3 - 22(3) - HRAEY - 84S Ol &by JNE Y HwE2
= 110,770 4,207 69,563
std=s SEMHIA 2Et 61,770 41,207 20,563
101 el1Ay| 61,770 41,207 20,563
M MRS 24 61,770 41,207 20,563
oMLY 2% o=
88,3302 +501+ 1352 59,623 39,749 19,674
onE=E 23 1,014,000@ %14 1,014 680 a3
oMTEE B3 1,133,000 21 +1A! 1,133 778 385
2ol 80| s4AY 70,000 0 70,000
= 21,000 0 21,000
2 49,000 0 49,000
307 2I2+0IH 70,000 0 70,000
& 21,000 0 21,000
= 49,000 0 49,000
02 CIRIFMALYBE 70,000 0 70,000
OJIENY U SESE, 2EY S
100,000, 000 *70% 70,000 0 70,000
& 21,000 0 21,000
2 49,000 0 49,000
NECENPEET 420,500 188,100 232,400
HEZE Y MEEZ 169,200 96,800 72,400
201 YLt EL| 105,200 62,800 42,400
R 102,700 60,300 42,400
OANIE2H 2 A2 2% 2|
2,50081%15,200 £ 38,000 25,000 18,000
OADIERA U ASTY 29 B2l 8Y
29,400,000 22! 58,800 29,400 29,400
206 =Y 60,000 30,000 30,000
01 24| 60,000 30,000 30,000
OANlERM 2ETE P
60,000,000& *14) 60,000 30,000 30,000
SMMEISE (AS) 2HE 2AMY 160,000 0 160,000
401 AlEHIL 2044 160,000 0 160,000
01 A&t 160,000 0 160,000
OSMMEITR(AS) AHE 2
160,000, 0003 =10 2 160,000 0 160,000
MHRES(s82/=4H) 201,405 0 291,405
SR 291,405 0 291,405
PE2 wE 291,405 0 291,405
802 BHe 20|l 291,405 0 291,405
01 RNEFIE 258,342 0 258,342
@221 IZARIH2I XIS (HIAK 2218 X
2 18,825, 00024 14! 18,825 0 18,825
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£A:

B HPES(SYIISUH)
ol BENE

2A - FH - 2(3) - HIRAY - BHES Ol &beH J 3 HwnEz
02229 JIEARHANR (HAH +218) X
2 7,200, 00024+ 141 7,200 7,200
©20221 JIEAHIHRIXIR (HIAK A1 %2l
bl) X 3,600, 0004+144 3,600 3,600
02023 TR $H X
14,002, 0008 %14 14,002 14,002
020284 JISYAUSKR (F4) X8
23,168,000% 14! 23,168 23,168
O22E FEsU ASHINAANY s
HUNHS(2ZH], 01X FHz
4,908, 08381 14! 4,909 4,909
OAPEET BAUXET Bit
182,014,66021 14! 182,015 182,015
ONBAT HRYTHIY| (YT V2| 223
bl et 96, 54021%14! o7 97
o224 AUSIHAILSY (B2 T)22
Bl 24| RISHEIOH Biut
1,225,0002 14} 1,225 1,225
OB FATLRIIHSKBAY 26| &
B BH 1,171,07081%14] 1,172 1,172
OB I HSHXLAXY 24| 0k
of grgt 3,78021x14! 4 4
023 JHEYAUS(XE) XA
862, 0002114} 852 852
O34 FAXILBIINE XA 2810]
Riok srgt 346, 07021 %141 347 347
0B SEAFELUS BEIHY N 0
POEREIEE]) 5902 +14] 1 1
0N SEHMESAUIS AU 1S 0
X EHH(RH1) 2,490 12] 3 3
0B SOIEDIS AHIA HFDS OIX g
e (2H) 880214 i 1
OB SENSEYNS ARE XE T
I}OH UI OlIl. H}LF(EU')
920,51021+144 921 921
@Al - CHIEZZUEE 33,063 33,063
©2021 IFEAHHIK R (HIAK 2248 X
& 5,648, 0002114} 5,648 5,648
©20281 HOIX AA+ QHFAIY TH| FT
e 22,00024+14! 2 2
AR &2 BTINI5 NBAY 4l FY
Y 2,300,000+ 14! 2,300 2,300
©20221 JIBAHIHRIKIR (HIAH 4248 X
2 2,160,000 %4+14! 2,160 2,160
©2022 JIEAMHRAKIR (HAH S35
bl) X2 1,080,000 14} 1,080 1,080
023 RHS ol X
2,049, 00024 14! 2,049 2,049
O3 JHEYAUSNE (Fa) N
3,650,0002!14] 3,650 3,650
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SN sIsHEH
A HRES(sYIIsdH)
o 2EIE (S M S)
FA - ZY - (S0) - HSAY - BET Oif &bl J 3y Blws2
o2d HUsol FsHANY CHl VY
oM 578,492 * 14 579 579
©02d BE=sH0 F=FANE ZH| 01X
45,867 3 *14] 45 46
Q223 AL CHZFLHIK RHXIR AR B
= 5,371,900& =14 5,372 5.372
©20233 SXIHE Y J1E0|8 RFE A B
= 2,737,230 3*14 2,738 2,738
©20233 KNsEEMAE XNFAY ZH X
= B 249,030 3 14! 250 250
©2022d AsIIHAIGESE (ZHIEX) el
Bl &H| ZgHate) gy 245,000 *14] 245 245
©20238 F=AXIL 2D HSHAAAMSE TH &
SHAROH Bhgt 585,530& * 14 586 586
©ABE SHEHANFFULIXE =Hl Y=
&rot gt 389, 100& » 14 390 390
QABE sLERUARALHIXE =H| OlX
o By 203,790 + 14! 204 204
©20233 HE=JIH =f83 2 XNE =4
O} At gt 38,650& 14 39 39
©20232 sI|HSEEE Sl 01X Byt
3,030& %14 4 4
©20238 =URICHEEE TH| OlKeH B
20,7803 %14 21 21
©2023¢ LU=sIH=CI22HIXR =H &
ROk Bt 2,580 x14! 3 3
©2023= A= IH=22LHIAY £Hl 0l
Ared grgt 3,900+ 14! 4 4
©20238 =IOIHSSHEXFEHAA SHl 0I&
of Bt 1,70021%14! 2 2
oARE =825 &2 BELE NE
1,654,000 %14 1,654 1,654
©20223 s4tE EHc el A& =HI 0l
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